
{2.9~11절}

2.59 [ 질점의 평형 문제 ]    자유물체도

 = 5°,    = 12 kN

    <방법 1 : 직각 성분>

Σ  =   cos -   sin = 0    … ①

Σ  = -  sin +   cos -  = 0  … ②

     (a) ①×cos + ②×sin 

(cos cos - sin sin)   -  sin = 0

⇒     = cos 
sin

  

  is minimum  ⇒  cos( ) is maximum  ⇒   cos() = 1

⇒     = 0°   ⇒    = -  = -5.00° ⇒    = ↗＿5.00°

     (b)   =  sin = (12 kN) sin5° = 1.0458 kN ⇒   = 1.046 kN

    <방법 2 : 힘 삼각형>

     (a)   is minimum  ⇒    = 90°

 = 90° -  = 90° - 5° = 85°

′ = 90° -  = 90° - 85° = 5.00°   ⇒    = ↗＿5.00°

     (b)   =  sin = (12 kN) sin5° = 1.0458 kN

⇒   = 1.046 kN

2.64 [ 질점의 평형 문제 ] 자유물체도

 = 200 N,     = 192 N,    = 400 mm

도르래 에서   =  = 200 N

장력   =   = 200 N

    <방법 1 : 직각 성분>

Σ  =  cos -   = 0   

⇒   cos = 


 =  N
 N

 = 0.960

⇒   cos =  


   ⇒   cos2 ( ) =     ⇒     = 

  cos
cos

    

⇒    = 



  cos
cos

 = 



  


 (400 mm) = 1,371.4 mm

⇒    = 1,371 mm
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    <방법 2 : 힘 삼각형>

   +   = 


⇒     = 
     

=  N    N   = 56 N




 = 


⇒    = 


  =  N
 N

 (400 mm) = 1,371.4 mm

⇒    = 1,371 mm

2.68 [ 도르래, 질점의 평형 문제 ]

 = 6 kN F.B.D.

  

     (b) 도르래에서  Σ  = 0 ; 2 -   = 0

⇒     = 2

줄의 장력    =   = 2

상자에서  Σ  = 0 ;  +   -  = 0

⇒    + 2 = 

⇒    = 


 = 


(6 kN) = 2 kN ⇒  = 2.00 kN

     (d)  도르래에서  Σ  = 0 ; 3 -   = 0

⇒     = 3

줄의 장력    =   = 3

상자에서  Σ  = 0 ;  +   -  = 0

⇒    + 3 = 

⇒    = 

 = 


(6 kN) = 1.5 kN ⇒  = 1.500 kN

F1

T T

F1

T TT

P

N
TA

T

W

F2

T

W

F2


